TRH2IEE REXFH

X PHE-NERBEERSF

(B4 FH)
A X W
® B AEEFELHE | MEETHEE 1 (A)FEE ® B AEEFERE | MEETESRE | #(A)FEE
FH) % % I A 9,303,815 9,333,909 A30094|(%) % B =& 5,944,483 6,080,623 A 136,140
(1) NERBEBEHFIIA 8,233,817 8,189,776 44,041 (JB) ¥ ¥ & B % 3,372,813 3,402,302 A 29,489
(JB) ¥ % # WX A 1,069,998 1,144,133 A 74,135 (B # ¥ Zm & & 2,286,304 2,418,335 A 132,031
() — & & B % 285,366 259,986 25,380
(F) EHE 4 U A 80,247 90,017 A 9,770
(FH) EHEHNH X H 3,946,439 3,562,437 384,002
g #M B I A 67,425 60,600 6,825
mx W #M OA 223,722 274,637 A 50,915
(IB) ¥ #% 5 # I A 12,822 29,417 A 16,595
(E) 7T = B & % 3,718,810 3,283,528 435,282
) & A = 160,000 480,000 A 320,000 (1B) BASEMKAEE 3,907 4,272 A 365
(B E #1 & A £ 160,000 480,000 A 320000\ (3%) SN EBIEBEEXRE 505,268 630,114 A 124,846
(18) 5 B B 58 &2 & 499,641 629,190 A 129,549
(IB) SV EIREERIRRE 0 0 0
B MW F F ¥ B 5,627 924 4,703
EH ¥ B & 150,000 150,000 0
(18) ¥ i & 150,000 150,000 0
a 5 9,544,062 9,903,926 A 359,864 o~ = 10,546,190 10,423,174 123,016
=R (202,526) (210,324) (A7,798) = F (174,667) (186,545) (A11,878)

GE1) URAZELNZHEEICT RS H%E1, 002, 128 FAIZDVTIL, BIEENSOBRBEEER LT S,

Gx2) (

YEIXHERBEDENELZLDTHD,




REXFHEE-—A#ITFEIIFTVEREERER

FR2IFE NXFRE

(i FH)
1 A 53 H

#E REE mmmm o | NEE | Mm #E REE emmm — g | WEE [#OR

PHE L REEB LN FHE | @ PHE L BREB| gL PHE | @
FH % H I A 440,747, 171,069 268,628 1050 428,212| 12535|(%) % # & 492541 222973 268,518 1,050\ 427,972| 64,569
(1B) fEEEEH 171,069, 171,069 - 154,245 16,824 (I8) £HEEE 239,352 25898 213,454 - | 244223| A 43871
(1) ZFEHIRA 269,678 - 268,628 1,050 273,967 A 4,289 (18) HHRIEE 244,800; 192,830 51,970 - | 176,455| 68,345
(I8) —REEE 8389 4245 3094 1,050 7,294 1,095
(F EFHHAA 84 33 51 - 25 59((3k) ¥ B M X 260 99 161 - 265 A5
(IH) FZ2URA 84 33 51 - 25 59 (18) X#FE 10 4 6 - 15 A5
(18) T2EES 250 95 155 - 250 0
e A R I B B S B o e Mo B

CGENC HEF.HEBENENELLLOTHS,



RXFHEE-REEFESEERT

FR2IFE NXPHEE

(B FH)
1Y A * H
# B AEEFHIE | IEETHERE | #B(A)BE = B AEETFELE | MEETHEE | #HB(A)HE

() % & I A 15,063 12,373 269|Zx) % B B 18,672 18,636 36

() £ ERILA 15,063 12,373 2,690 () REEREEE 1,117 1,217 A 100

(B) REEREXEE 17,555 17,419 136
~ st 15,063 12,373 2,690 N < 18,672 18,636 36
- : (0 (0 (0 = 8 (818) (818) (0)

GE 2)(

VEIXHEBBESENELEZLOTHS.

CGE DIRAZEAZHEBIT B I H%E3, 609 FHITDONTIE, ATFENSDRBEREFT LT D,



ER2AIFEE NWEZFEHE

RXFPHE-BERRAETZASTERG

(Bf:FH)
)} A *
#® ] AEEFELE | MEETHEE | HB(A)HEE 7l B AEETFELE ETELH H(A)BEE
FH) %= B I A 5,476,686 1,465,550 4011,136[(20) % B & 5,477,823 1,468,100 4,009,723
(IH) ZTREEHFEIA 5,476,686 1,465,550 4,011,136 (I8) BRR4ET2ZHTEE 86,842 76,725 10,117
(B) BRR4ELTEEE 5,390,981 1,391,375 3,999,606
(F) EFHE 4 A 1,137 2,550 A 1,413
() ¥ %5 # U A 1,137 2,550 A 1413
o 5t 5,477,823 1,468,100 4,009,723 o = 5,477,823 1,468,100 4,009,723
= B (260,821) (69,910) (190,911) = : (257,941) (67,541) (190,400)

GE)(

VEIX, HEBREIENELLLOTHS.




